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10M(c)0.8x%02 0.8 | 67(785 23 % 27 3500
100001.1x302 1.1 | 68|79.5] 23 25 0| 3500 )
104(0).3x302) 1.3 | 69 [80.5| 23 %5 21 3500
1aOL6x300 16 |58 | w3 | ® | o | B0
10MOL8X30] 19 |5 g3 | 23 | 8 | 2 | 360
10A(0)2.1X302) 91 | T2 |885| 23 % 21 3500
10MC)2.5%302| g5 | 74 [s5.5] 23 % M| 3500
10A0)2.7x302) 2.7 | 45/ 86 | 2 2% 27 3500
10A(C)3.2x302 3.2 | 7|85 2 3 % | 3500
10AC)3.7x302) 3.7 |78.5 %0 | 20 2 % 300
10A(C)4.2X302 | 49 | 81 [92.5] 20 il 2% 3500
10A(C)4.8X302) 4.8 | 83 [945)| 19 21 23 3500
10A(C)5. 0302 5.0 | 84 |95.5] 19 pil 23 3000
10A(C)5.7X302] 5.7 |86.8/98.3 19 A 23 3000
10A(C)5.8X302 5.7 |86.898.3| 19 21 23 3000
10A(C)6.1X302) 6.1 |87.5) 99 | 18 20 2 2500
10A(c)6.3x302| 6.3 | 8 [9a5| 15 | 17 19 2500
10A(C)6.5X302| 6.5 |88.5/100] 15 17 19 2500
104(0)7.0x302| 7 |90.5|102| 13 15 il 2500
10A(c)8.0x302| 8 |45 [106| 12 | 14 16 2000
10A(C)9.0X302| 9 98.5 | 110 | 10 12 14 2000
Displ Pl P2 P | k. Speed
Hodel ‘ a/r Nis NHax. Pressure  (NPa) /in




